
ENGINE AND MUFFLER Gasoline Vehicle 
12iMEMMCOMMIMMS ""5522:neZkalWaS 

 

Service Parts Manual 

  

Page M-1 EZECI TEXTRON 

 



Gasoline Vehicle ENGINE AND MUFFLER 

When ordering parts, please specify the model and serial number of the product. 
* Indicates a component that is not available as an individual part. 
G** Indicates consult Customer Service Department for additional information. 

ITEM PART NO. 1 2 3 4 5 DESCRIPTION QTY. 

1 26700-G01 ENGINE  1 

2 

3 26631-G01 GROMMET, TIMING BELT COVER   1 

4 26727-G01 GASKET, CARBURETOR /AIR BOX   1 

5 26667-G01 STUD  2 

6 25523-G3 SPARK PLUG, RESISTIVE  . AR 

7 25523-G2 SPARK PLUG, NGK BP4ES  . 2 

8 26733-G01 SPARK PLUG WIRE SET (2 WITH BOOTS)   1 

9 

10 26657-G01 BRACKET, IGNITION COIL   1 

11 

12 XXXXX-XX CARBURETOR (SEE SECTION F FOR PART NUMBER 
AND QUANTITY   X 

13 26719-G01 GASKET, VALVE COVER   1 

14 

15 26676-G01 BOLT, FLANGED, M6 X 1 X 23 MM LG  . 6 

16 26601-G01 CAP, OIL FILLER   1 

17 26720-G01 "0" RING  . 1 

18 

19 26600-G01 COVER, VALVE   1 

20 25532-G1 BOLT AND WASHER, M8 X 1.25 X 18 MM LG.  2 

21 72019-G01 MUFFLER  . 1 

22 

23 25532-G1 BOLT AND WASHER, M8 X 1.25 X 18 MM LG.  . 2 

24 25531-G1 GASKET, EXHAUST  . 1 

25 00438-G8 BOLT, 5/16 - 18 X 1 LG.  . 1 

26 

27 

28 00565-G8 WASHER, LOCK, 5/16  1 

29 00642-G8 WASHER, 5/16  . 1 

  

Service Parts Manual 

 

E-ZGO TEXTRON Page M-2 

   


